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A=REE= 10, 20, 50, 100, 120, 150, 200, EX=P5I8
AX = REREE=S 300, 360, 500, 512, 1000, 1024,
B = @#HiE= (58mm%&ciE) 1250, 2048, 2500, 3600, 4096,
C = FEE= (58mm=csE) 5000, 8192, 10000, 12400,
D = Fit= 15000 (1-16384P/RIJETHEIR)
E = BREIE=
K= BFE= (REER)
H = @Bfliz= (KB — SNEMIR
W = iBFLiE= (W KESTZR) N =45, BOIPER IP54
V = BFLE= (B ER) S =48, [HIFELR IP65
W = g5, BEIPER IP65
g
= ‘g omm —— AR
08 = @ 8mm HETTE F=10-30V, HTL#EE
10=210mm A = B[] E=5V, TILES
el R=1M X =5-30V, HCTLEBEERS-422
14 =@ 14mm
15 =@ 15mm
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EE 3=A+B+Z _ _ _
A1 = E345 @ 6.5mm 4x2x0.14mm?, 1m 6 =A+B+Z + A+B+Z

A2 = B34 @ 6.5mm 4x2x0.14mm?, 2m
AE = $&L M12-57%

AF = $EL M16-6i%

AH = 1Bk M12-8it

XM = #EL M23-127%
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